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PART - A

Synonyms
Directions : Each item in this section consists of a sente
words, (a), (b), (¢) and (d). Select the option that is neares
vour response in your Ansu

nee with an underlineq
er Sheet accordingly.

word followed by four

erlined word gnd mark
1. He is essentially a lowbrow person, 6. His bounty ig limitless.
(@) coarse (@)  benevolence
() proud (b)  gallantry
(¢)  passionate () nepotism
(d)  pathetic (d) chivalry
2. His nostalgia is deep. The Holocaust was experienced by millions
(@) excitement (@)  celebration
(b)  longing (b)  destruction -
() happiness (C) Construction s
(@) ability (d)  beautiful
3.

His truancy is detrimental.

His aversion is known to all.
(a) loyalty

(@)  hospitality
(b)  integrity ()  hostility
(¢)  honesty (¢)  humility
(d) absenteeism (d)  humbleness
4. He is a maleficent person. To be able to decipher something is wonderful.
(a) generous (a) decode
(b)  cunning (b)  encode
(e dnue (¢)  simulate
: rimi
d) friendly (d) animate
‘BN His O TR S, o —— 10. It is the opportune time to think ahout
) % 4 . investment in the real estate sector.
( red
= (a)  honorary
(b desire (b)  appropriate
& e (©  difficult
(d)  dignity- (d)  unsuitable
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Spotting Errors
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tion has a sentence with three 3, dery;
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Directions : Each item in this
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: nee to find out whether ! y “"d""[ln d o @
Read each sentence 10} By / -
. gas o o N (C “.(” [
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the An: , )
lr,.”r L
Yoy
, ;e i) -
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11. Nursery classes for the children starts on April every year. No error

(a) (b) (c) @)

12. The pollution level is very high in our city, and becomes a health hazard.

(a) (b) (¢)

No error

(d)

] . . ial groups.
13. India is a country of linguistic and cultural diversity with multiple ethnic and social g
(a) (b) (c)
No error
(d
]4- v’vh}/ d()(-&. yh,‘ Jd[ e rate r
I8 ‘“‘l i o s ise ? NoerrO
—— s ect the tendency of air to rise e
(c) (d)
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16.

17.

18.

19.

20.
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The thorax is the upper part of your body from the neck down
15.

(a) (b)
to the bottom of the ribs and diaphragm. m
(c) (d)

peacekeeping forces ar

e trying to keep the Peace. No error

(c) @)

Early cities rely on food and water from the surrounding countryside,

(a)

(b)

but today cities often depend on distant Sources. No error

(c) d)

Climate change, whether it ig natural or human

-induced,
(a) (b)

is stressful for the

(d)

(4-C)
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